—eigi

20224F5 5160 EHi— 09:13

¥mwED fB)H
e FDWEDH DR D P=chax(o0) REER
C=-yx @, 0> —xtp&P=c  —x+bp Fif o

% V=F@) (t=-x+ e

oV

Yzo - 2= _ 1% yz 3
2 F(‘t)[mg—, I]+F(ﬂm ;g"F“)[W]*F‘” W R

ONEE TR UE
2T ]%j—?] Flity + -;lﬂ—? Flity= 0

Flt) L
ity X

I

ﬁ)\ /k,Fj’F(‘t) J?t

BRE - BIH=CFE+C

V:F(t): C‘].-E+C2:Cl J~x+]-x_’__|:g= +C2 ——)M\_ﬂé *’i

FEHTE —LEHE

B,Zn
2k
2k
S, Zp
%)
A2,
= |im
L{(z)o[z oxleZe 0 kz\‘ﬂék)bz?h

2= Xktils f-(z): ulx,y)ﬂv (x,y)

M:(z) dz = L U(X:y)dx-V(X:g)dg t1 L vixyddx + ulx.yy dy

‘fnt(z) dz = <fl i yydx-vixyydy+ 1ﬁ v(xy)dx + ulx.y) dy
N

§ibexrQdy = [[[SF - 5L dxdy
‘f’lf\z)d2=“ﬂ( )dxdy-ﬂﬂ[ax GU dxdy

=1 au =)
RE-BERe S-S TR

B fftf(i)dz =Q.
TERD 1=§ zwdz (n AR, n<o, |EBa)
/ [
¢ 2-o=Re' Yo p%-, 1) I:iR“*‘——i['Ml) ity |

]_;CfL z-4)"dz 4o h=-) lli]") I=1 l'znd\{);m(i_
= §,eimvd (xrReie)
= f:ﬂ R'ein pel® idy

= ile I"" ei(hﬂ)wd\[)

SRR R ECRT 78

| f I<lzl<o 7 B kg & Ht {0 S BH BARGK

S (S P
I"iL'z—zh'o Za) 24‘ 26

2 el AL BERf: 2T By FIEEK
1
]c(z)‘rz'l)(z*rl) =% Z ‘filﬁ %(réz?f‘l > z4]<2
‘ - l ]
:il"zJ*Fl‘JfE\) 'lz b £L :ALEOH)'Q[ZZ‘F (124]<a)

+t2
| W
koo P e (oclel<d)



